

Conservation Laws and Moving Frame Method of Vaidya-Bonner Space-Time

Davood Farrokhi, Rohollah Bakhshandeh-Chamazkoti and Mehdi Nadjafikhah

**Sahand Communications in
Mathematical Analysis**

Print ISSN: 2322-5807
Online ISSN: 2423-3900
Volume: 19
Number: 3
Pages: 65-76

Sahand Commun. Math. Anal.
DOI: 10.22130/scma.2022.550731.1080

Volume 19, No. 3, September 2022

Print ISSN 2322-5807
Online ISSN 2423-3900

Sahand Communications
in
Mathematical Analysis



SCMA, P. O. Box 55181-83111, Maragheh, Iran
<http://scma.maragheh.ac.ir>

Conservation Laws and Moving Frame Method of Vaidya-Bonner Space-Time

Davood Farrokhi¹, Rohollah Bakhshandeh-Chamazkoti^{2*} and Mehdi Nadjafikhah³

ABSTRACT. In the present paper, we compute the conservation laws of the Vaidya-Bonner geodesic space-time metric in a Riemannian space and carry out the moving frame method for this metric. We obtain the connection forms and curvature 2-forms, using the first and second Cartan's structure equations. Finally, the Ricci scalar tensor and the components of Einstein curvature are calculated.

1. INTRODUCTION

In [17], Stephen Hawking proved the existence of the thermal radiation of black holes, which makes a striking discovery for further research on black holes. Since the background space-time behaved as fixed and energy conservation, charge conservation and angular momentum conservation were not considered, the derived Hawking radiation spectrums in the further researches are purely thermal [18]. However, it is difficult to research the Hawking effect of the non-static or non-stationary black holes because the calculation about the vacuum expectation value of the re-normalized energy-momentum tensor is very complicated.

The metric of the non-stationary Vaidya-Bonner black hole reads

$$(1.1) \quad ds^2 = - \left(1 - \frac{M(t)}{r} + \frac{Q(t)}{r^2} \right) dt^2 - 2dt dr + r^2 (d\theta^2 + \sin^2 \theta d\varphi^2),$$

where $M(t)$ is the dynamical mass of the black hole and $Q(t)$ is the electric charge, which both depend on the advanced Eddington time

2020 *Mathematics Subject Classification.* 34B24, 34B27.

Key words and phrases. Conservation laws, Geodesic, Riemannian metric, Moving frame.

Received: 17 March 2022, Accepted: 25 July 2022.

* Corresponding author.

coordinate t , [15]. If $Q(t)$ equals zero, the non-stationary Vaidya-Bonner black hole is reduced to the Vaidya black hole.

Recently, many papers have been published on the calculation of Lie and Noether symmetries, [14], as well as the conservation laws for space-times that have many applications in physics and astronomy, [1, 3, 4, 11, 16]. In particular, works have been done on the Noether symmetries of the conservation laws for the Vaidya Metrics, which shows its importance, [5, 8–10, 12, 13].

In [6], we calculated the corresponded Noether symmetries and Lie point symmetries of the Vaidya-Bonner metric. Moreover, a classification of the one-dimensional optimal system of subalgebras for the corresponded Lie symmetries is presented. In this article, we continue the previous work by finding the conservation laws and constructing appropriate manifolds based on moving frame methods. By exploring the relationship between a connection and its curvature, we reveal their geometric interpretation in terms of moving frames. We compute Cartan's first and second structural equations which establish the relationship between a local orthonormal frame, the connection, and its curvature.

2. NOETHER SYMMETRY AND CONSERVATION LAWS

Suppose that (M, g) is a five-dimensional Riemannian manifold equipped with the Vaidya-Bonner metric (1.1). Consider $x = (x^1, x^2, x^3, x^4, x^5) = (s, t, r, \theta, \varphi)$ as a local coordinate on M and

$$\begin{aligned} \mathbf{X} &= \xi(s, \mathbf{x}) \frac{\partial}{\partial s} + \sum_{\nu} \eta^{\nu}(s, \mathbf{x}) \frac{\partial}{\partial x^{\nu}} \\ &= \xi(s, t, r, \theta, \varphi) \frac{\partial}{\partial s} + \eta^1(s, t, r, \theta, \varphi) \frac{\partial}{\partial t} + \eta^2(s, t, r, \theta, \varphi) \frac{\partial}{\partial r} \\ &\quad + \eta^3(s, t, r, \theta, \varphi) \frac{\partial}{\partial \theta} + \eta^4(s, t, r, \theta, \varphi) \frac{\partial}{\partial \varphi}, \end{aligned}$$

as a vector field is defined on tangent space M . One can find the first prolongation, [7], of the vector field \mathbf{X} with the following form

$$(2.1) \quad \mathbf{X}^{[1]} = \mathbf{X} + \sum_{\nu} (\eta_{,s}^{\nu} + \eta_{,\mu}^{\nu} \dot{x}^{\mu} - \xi_{,s} \dot{x}^{\nu} - \xi_{,s} \dot{x}^{\mu} \dot{x}^{\nu}) \frac{\partial}{\partial \dot{x}^{\nu}}.$$

The infinitesimal generator \mathbf{X} is a Noether point symmetry of the Lagrangian

$$\begin{aligned} (2.2) \quad \mathcal{L} &= \sum_{\mu, \nu} g_{\mu\nu}(x^{\sigma}) \dot{x}^{\mu} \dot{x}^{\nu} \\ &= - \left(1 - \frac{M(t)}{r} + \frac{Q(t)}{r^2} \right) \dot{t}^2 - 2\dot{t}\dot{r} + r^2 \left(\dot{\theta}^2 + \sin^2 \theta \dot{\varphi}^2 \right), \end{aligned}$$

if there exists a gauge function, $A(s, x^\mu)$, such that

$$\mathbf{X}^{[1]}\mathcal{L} + (D_s\xi)\mathcal{L} = D_sA,$$

where

$$D_s = \frac{\partial}{\partial s} + \sum_{\mu} \dot{x}^\mu \frac{\partial}{\partial x^\mu}.$$

Usually, in the calculation of Noether symmetries (for simplicity), the gauge function A is considered equal to zero. By substituting in the following equation

$$\mathbf{X}^{[1]}\mathcal{L} + (D_s\xi)\mathcal{L} = 0,$$

we will obtain

(2.3)

$$\begin{aligned} \ddot{t} + \frac{2Q(t) - rM(t)}{4r^3} \dot{t}^2 + \frac{r \sin^2 \theta}{2} \dot{\varphi}^2 + \frac{r}{2} \ddot{\theta}^2 &= 0, \\ \ddot{r} - \frac{2}{8r^5} ((rM'(t) + 4Q'(t)) (rM(t) - 2Q(t)) (rM(t) - r^2 - Q(t))) \dot{t}^2 \\ + \frac{rM(t) - 2Q(t)}{4r^3} \dot{t}\dot{r} + \frac{M(t) - r^2 - Q(t)}{4r} \dot{\theta}^2 \\ + \frac{(M(t)r - r^2 - Q(t)) \sin^2 \theta}{4r} \dot{\varphi}^2 &= 0, \\ \ddot{\theta} + \frac{2}{r} \dot{r}\dot{\theta} - \sin \theta \cos \theta \dot{\varphi}^2 &= 0, \\ \ddot{\varphi} + \frac{1}{r} \dot{r}\dot{\varphi} + 2 \cot \theta \dot{\theta}\dot{\varphi} &= 0. \end{aligned}$$

We conclude the corresponding Noether symmetries of metric (1.1) as follows

$$\begin{aligned} (2.4) \quad \mathbf{v}_1 &= \frac{\partial}{\partial s}, \quad \mathbf{v}_2 = \frac{\partial}{\partial t}, \quad \mathbf{v}_3 = \frac{\partial}{\partial \varphi}, \\ \mathbf{v}_4 &= -\cos \varphi \frac{\partial}{\partial \theta} + \sin \varphi \cot \theta \frac{\partial}{\partial \varphi}, \\ \mathbf{v}_5 &= \sin \varphi \frac{\partial}{\partial \theta} + \cos \varphi \csc \theta \frac{\partial}{\partial \varphi}. \end{aligned}$$

Now, we want to determine the conservation laws for systems of Euler-Lagrange equations using Noether's theorem. This theorem relies on the availability of a Lagrangian and the corresponding Noether symmetries, which leaves the action integral invariant. Now the conservation laws of the system (2.3) are given by

$$D_s T_i = 0.$$

Theorem 2.1. *If \mathbf{X} be a Noether point symmetry of a Lagrangian $\mathcal{L} = (s, x^\mu, \dot{x}^\mu)$, then*

$$T = \bar{\xi}\mathcal{L} + (\bar{\eta}^\mu - \dot{x}^\mu\bar{\xi}) \frac{\partial\mathcal{L}}{\partial\dot{x}^\mu} - A,$$

is the first integral of \mathbf{X} , where $A = A(s, x^\mu)$ is the gauge function.

The conserved flow of Noether symmetries (2.4), is given by

$$T = \bar{\xi}\mathcal{L} + (\bar{\eta}^1 - t\bar{\xi}) \frac{\partial\mathcal{L}}{\partial\dot{t}} + (\bar{\eta}^2 - t\bar{\xi}) \frac{\partial\mathcal{L}}{\partial\dot{r}} + (\bar{\eta}^3 - \theta\bar{\xi}) \frac{\partial\mathcal{L}}{\partial\dot{\theta}} + (\bar{\eta}^4 - \varphi\bar{\xi}) \frac{\partial\mathcal{L}}{\partial\dot{\varphi}} - A.$$

By assumption $A = 0$, the conserved flows corresponding to the Noether symmetries (2.4) are listed in Table 1.

TABLE 1. Noether symmetries and conservation laws for metric (1.1).

Noether symmetry	Conservation law
$\mathbf{v}_1 = \frac{\partial}{\partial s}$	$T_1 = \frac{1}{r^2}(-r^4(\sin^2\theta\dot{\varphi}^2 + \dot{\theta}^2) + (Q(t) - M(t)r + r^2)\dot{t}^2 + 2r(r\dot{r} + M(t))\dot{t})$
$\mathbf{v}_2 = \frac{\partial}{\partial t}$	$T_2 = -2\dot{t}$
$\mathbf{v}_3 = \frac{\partial}{\partial \varphi}$	$T_3 = 2r^2\sin^2\theta\dot{\varphi}$
$\mathbf{v}_4 = -\cos\varphi\frac{\partial}{\partial\theta} + \sin\varphi\cot\theta\frac{\partial}{\partial\varphi}$	$T_4 = 2r^2(\sin\theta\sin\varphi\cos\theta\dot{\varphi} - \cos\varphi\dot{\theta})$
$\mathbf{v}_5 = \sin\varphi\frac{\partial}{\partial\theta} + \cos\varphi\csc\theta\frac{\partial}{\partial\varphi}$	$T_5 = 2r^2(\sin\theta\cos\varphi\dot{\varphi} + \sin\varphi\dot{\theta})$

3. MOVING FRAME METHOD

3.1. Moving Frames in Euclidean Spaces. Consider \mathbb{R}^N equipped with the standard inner product $\langle \cdot, \cdot \rangle$ and U as an open domain in \mathbb{R}^N . A moving frame in $U \subseteq \mathbb{R}^N$ means choosing an orthonormal base $\{\mathbf{e}_1(x), \dots, \mathbf{e}_N(x)\}$ for all T_xU , $x \in U$. Taking exterior derivatives we find

$$dx = \sum_A \omega_A \mathbf{e}_A,$$

$$d\mathbf{e}_A = \sum_B \omega_{BA} \mathbf{e}_B,$$

where ω_A 's and ω_{AB} 's are 1-forms. The orthonormality condition implies

$$\begin{aligned} 0 &= d\langle \mathbf{e}_A, \mathbf{e}_B \rangle \\ &= \langle d\mathbf{e}_A, \mathbf{e}_B \rangle + \langle \mathbf{e}_A, d\mathbf{e}_B \rangle, \end{aligned}$$

and consequently

$$\omega_{AB} + \omega_{BA} = 0.$$

That is, the matrix-valued 1-form $\omega = (\omega_{AB})$ takes values in the Lie algebra $SO(N)$. Using $d^2x = 0$ and $d^2\mathbf{e}_A = 0$, we obtain

$$\begin{aligned} d\omega_A + \sum_B \omega_{AB} \wedge \omega_B &= 0, \\ d\omega_{AB} + \sum_C \omega_{AC} \wedge \omega_{CB} &= 0. \end{aligned}$$

These equations are often called the *structure equations* for Euclidean space or more precisely for the group of rigid motions of Euclidean space. The second set of equations is also known as the structure equations for the orthogonal group.

3.2. Moving Frames in semi-Riemannian Manifold. Let M be an n -dimensional semi-Riemannian manifold and (x_1, \dots, x_n) be a local coordinate at the point $p \in M$, equipped with metric

$$g = \sum_{i,j} g_{ij} dx^i \otimes dx^j.$$

Then $\left\{ \frac{\partial}{\partial x_i} \Big|_p \right\}_{i=1}^n$ is a basis for tangent space T_pM and by assumption $X_i = \frac{\partial}{\partial x_i}$, we can write

$$\begin{aligned} \nabla_{X_k} X_j &= \sum_i \Gamma_{kj}^i X_i \\ &= \sum_i \omega_j^i(X_k) X_i, \end{aligned}$$

where ∇ is an affine connection and Γ_{kj}^i is the Christoper coefficients

$$\omega_j^i = \sum_k \Gamma_{kj}^i dx^k.$$

Therefore, we have Cartan's structure equations as follows

$$\begin{aligned} \Theta^i &= d\theta^i + \sum_j \omega_j^i \wedge \theta^j, \\ \Omega_j^i &= d\omega_j^i + \sum_k \omega_k^i \wedge \omega_j^k, \end{aligned}$$

thus, we can obtain the torsion 2-forms Θ^i and curvature 2-forms Ω_j^i from the above equations. Now, let us use the curvature forms Ω_j^i to define tensor components \bar{R}_{jkl}^i by

$$\Omega_j^i = \frac{1}{2} \sum_{k,l} \bar{R}_{jkl}^i \theta^k \wedge \theta^l,$$

where $\bar{R}_{jkl}^i = \bar{R}_{jlk}^i$ and we have

$$\begin{aligned} (3.1) \quad \langle \theta^i, \bar{R}(X_k, X_l) X_j \rangle &= \langle \theta^i, \Omega_s^j(X_k, X_l) X_s \rangle \\ &= \Omega_j^i(X_k, X_l) \\ &= \bar{R}_{jkl}^i. \end{aligned}$$

One can compute the components of the curvature tensor by (3.1), thus the components of the Ricci tensor are given by

$$\begin{aligned} (3.2) \quad R_{\mu\nu} &= \bar{R}_{\mu\lambda\nu}^\lambda \\ &= \sum_{\lambda} \Omega_{\mu}^{\lambda}(X_{\lambda}, X_{\nu}), \end{aligned}$$

and the Einstein tensor G is a 2-tensor by the following formula

$$G_{ij} = R_{ij} - \frac{1}{2} g_{ij} R,$$

where R_{ij} is the Ricci tensor, g_{ij} is the metric tensor and R is the Ricci scalar curvature. Now, we want to compute the Ricci tensor, Einstein tensor and Ricci curvature of metric (1.1), using the moving frame method, [2].

Proposition 3.1. *The nonzero components of the connection matrix (ω_i^j) of the Vaidya-Bonner space-time metric (1.1) are*

$$\begin{aligned} (3.3) \quad \omega_2^1 &= \frac{rM(t) - 2Q(t)}{2r^2 \sqrt{r^2 - rM(t) + Q(t)}} \theta^1, \\ \omega_1^2 &= \frac{r(rM'(t) - Q'(t))}{2\sqrt{(r^2 - rM(t) + Q(t))^3}} \theta^2, \\ \omega_2^3 &= -\omega_3^2 = \frac{\sqrt{r^2 - rM(t) + Q(t)}}{r^2} \theta^3, \\ \omega_2^4 &= -\omega_4^2 = \frac{\sqrt{r^2 - rM(t) + Q(t)}}{r^2} \theta^4, \\ \omega_3^4 &= -\omega_4^3 = \frac{\cot \theta}{r} \theta^4. \end{aligned}$$

Proof. We can choose the coframe

$$(3.4) \quad \begin{aligned} \theta^1 &= \sqrt{1 - \frac{M(t)}{r} + \frac{Q(t)}{r^2}} dt, & \theta^2 &= \frac{dr}{\sqrt{1 - \frac{M(t)}{r} + \frac{Q(t)}{r^2}}}, \\ \theta^3 &= r d\theta, & \theta^4 &= r \sin \theta d\varphi, \end{aligned}$$

for Vaidya-Bonner space-time metric (1.1) such that

$$g = -\theta^1 \otimes \theta^1 - \theta^1 \otimes \theta^2 - \theta^2 \otimes \theta^1 + \theta^3 \otimes \theta^3 + \theta^4 \otimes \theta^4.$$

Using the coframe (3.4), we have

$$(3.5) \quad \begin{aligned} dt &= \frac{1}{\sqrt{1 - \frac{M(t)}{r} + \frac{Q(t)}{r^2}}} \theta^1, & dr &= \sqrt{1 - \frac{M(t)}{r} + \frac{Q(t)}{r^2}} \theta^2, \\ d\theta &= \frac{1}{r} \theta^3, & d\varphi &= \frac{1}{r \sin \theta} \theta^4. \end{aligned}$$

Now, by differentiating (3.4), we find the following 2-forms

$$(3.6) \quad \begin{aligned} d\theta^1 &= \frac{rM(t) - Q(t)}{2r^2 \sqrt{r^2 - rM(t) + Q(t)}} \theta^1 \wedge \theta^2, \\ d\theta^2 &= \frac{r(rM'(t) - Q'(t))}{2\sqrt{(r^2 - rM(t) + Q(t))^3}} \theta^2 \wedge \theta^1, \\ d\theta^3 &= \frac{\sqrt{r^2 - rM(t) + Q(t)}}{r^2} \theta^3 \wedge \theta^2, \\ d\theta^4 &= \frac{\sqrt{r^2 - rM(t) + Q(t)}}{r^2} \theta^4 \wedge \theta^2 + \frac{\cot \theta}{r} \theta^4 \wedge \theta^3, \end{aligned}$$

that are the first structure equations. The equation (3.6) leads to (3.3). \square

Proposition 3.2. *The curvature 2-forms of the Vaidya-Bonner space-time metric (1.1) are given by*

$$\begin{aligned} \Omega_1^1 &= -\Omega_2^2 = \frac{(rM(t) - 2Q(t))(rM'(t) - Q'(t))}{4r(r^2 - rM(t) + Q(t))^2} \theta^1 \wedge \theta^2, \\ \Omega_2^1 &= -\Omega_1^2 = \frac{3Q(t) - rM(t)}{r^4} \theta^2 \wedge \theta^1, \\ \Omega_3^1 &= -\Omega_1^3 = \frac{2Q(t) - rM(t)}{2r^4} \theta^1 \wedge \theta^3, \\ \Omega_4^1 &= -\Omega_1^4 = \frac{2Q(t) - rM(t)}{2r^4} \theta^1 \wedge \theta^4, \end{aligned}$$

$$\Omega_3^2 = -\Omega_2^3 = \frac{2Q(t) - rM(t)}{2r^4} \theta^2 \wedge \theta^3 + \frac{rM'(t) - Q'(t)}{2r(r^2 - rM(t) + Q(t))} \theta^1 \wedge \theta^3,$$

$$\Omega_4^2 = -\Omega_2^4 = \frac{2Q(t) - rM(t)}{2r^4} \theta^2 \wedge \theta^4 + \frac{rM'(t) - Q'(t)}{2r(r^2 - rM(t) + Q(t))} \theta^1 \wedge \theta^4,$$

$$\Omega_4^3 = -\Omega_3^4 = \frac{rM(t) - Q(t)}{r^4} \theta^3 \wedge \theta^4,$$

$$\Omega_3^3 = -\Omega_4^4 = 0.$$

Proof. Consider the connection matrix (ω_i^j) with the nonzero components (3.3). Now, we compute the differential of 1-forms (3.3) as follows

$$(3.7) \quad \begin{aligned} d\omega_2^1 &= \frac{3Q(t) - rM(t)}{r^4} \theta^2 \wedge \theta^1, \\ d\omega_1^2 &= \frac{r^2(rM'(t) - Q'(t))(rM'(t) - Q'(t))}{(rM(t) - Q(t) - r^2)^3} \theta^1 \wedge \theta^2, \\ d\omega_2^3 &= \frac{rM(t) - 2Q(t)}{2r^4} \theta^2 \wedge \theta^3 + \frac{Q'(t) - rM'(t)}{2r(r^2 - rM(t) + Q(t))} \theta^1 \wedge \theta^3, \\ d\omega_2^4 &= \frac{rM(t) - 2Q(t)}{2r^4} \theta^2 \wedge \theta^4 + \frac{Q'(t) - rM'(t)}{2r(r^2 - rM(t) + Q(t))} \theta^1 \wedge \theta^4 \\ &\quad + \frac{\cot \theta \sqrt{r^2 - rM(t) + Q(t)}}{r^3} \theta^3 \wedge \theta^4, \\ d\omega_3^4 &= \frac{-1}{r^2} \theta^3 \wedge \theta^4. \end{aligned}$$

Now, we may obtain the Cartan second structure equations

$$\Omega_1^1 = d\omega_1^1 + \sum_{k=1}^4 \omega_k^1 \wedge \omega_1^k = \frac{(rM(t) - 2Q(t))(rM'(t) - Q'(t))}{4r(r^2 - rM(t) + Q(t))^2} \theta^1 \wedge \theta^2,$$

$$\Omega_2^1 = d\omega_2^1 + \sum_{k=1}^4 \omega_k^1 \wedge \omega_2^k = \frac{3Q(t) - rM(t)}{r^4} \theta^2 \wedge \theta^1,$$

$$\Omega_3^1 = d\omega_3^1 + \sum_{k=1}^4 \omega_k^1 \wedge \omega_3^k = \frac{2Q(t) - rM(t)}{2r^4} \theta^1 \wedge \theta^3,$$

$$\Omega_4^1 = d\omega_4^1 + \sum_{k=1}^4 \omega_k^1 \wedge \omega_4^k = \frac{2Q(t) - rM(t)}{2r^4} \theta^1 \wedge \theta^4,$$

$$\begin{aligned}\Omega_3^2 &= d\omega_3^2 + \sum_{k=1}^4 \omega_k^2 \wedge \omega_3^k = \frac{2Q(t) - rM(t)}{2r^4} \theta^2 \wedge \theta^3 \\ &\quad + \frac{rM'(t) - Q'(t)}{2r(r^2 - rM(t) + Q(t))} \theta^1 \wedge \theta^3, \\ \Omega_4^2 &= d\omega_4^2 + \sum_{k=1}^4 \omega_k^2 \wedge \omega_4^k = \frac{2Q(t) - rM(t)}{2r^4} \theta^2 \wedge \theta^4 \\ &\quad + \frac{rM'(t) - Q'(t)}{2r(r^2 - rM(t) + Q(t))} \theta^1 \wedge \theta^4, \\ \Omega_4^3 &= d\omega_4^3 + \sum_{k=1}^4 \omega_k^3 \wedge \omega_4^k = \frac{rM(t) - Q(t)}{r^4} \theta^3 \wedge \theta^4.\end{aligned}$$

□

Proposition 3.3. *The Ricci scalar curvature of space-time metric (1.1) equals to*

$$R = \frac{(2Q(t) - rM(t))(rM'(t) - Q'(t))}{2r(r^2 - rM(t) + Q(t))^2} + \frac{10Q(t) - 4rM(t)}{r^4}.$$

Proof. According to formula (3.2), the components of the Ricci tensor in the Vaidya-Bonner space-time metric are calculated in the following equations

(3.8)

$$\begin{aligned}R_{11} &= \Omega_1^1(X_1, X_1) - \Omega_2^1(X_1, X_2) - \Omega_3^1(X_1, X_3) - \Omega_4^1(X_1, X_4) \\ &= \frac{(rM(t) - 2Q(t))(rM'(t) - Q'(t))}{4r(r^2 - rM(t) + Q(t))^2} + \frac{4rM(t) - 10Q(t)}{2r^4}, \\ R_{22} &= \Omega_2^1(X_1, X_2) + \Omega_2^2(X_2, X_2) - \Omega_3^2(X_2, X_3) - \Omega_4^2(X_2, X_4) \\ &= \frac{(rM(t) - 2Q(t))(rM'(t) - Q'(t))}{4r(r^2 - rM(t) + Q(t))^2} + \frac{Q'(t) - rM'(t)}{2r(r^2 - rM(t) + Q(t))} \\ &\quad + \frac{4Q(t) - rM(t)}{2r^4}, \\ R_{33} &= \Omega_3^1(X_1, X_3) + \Omega_3^2(X_2, X_3) + \Omega_3^3(X_3, X_3) - \Omega_4^3(X_3, X_4) \\ &= \frac{(rM'(t) - Q'(t))}{2r(r^2 - rM(t) + Q(t))} + \frac{6Q(t) - 4rM(t)}{2r^4}, \\ R_{44} &= \Omega_4^1(X_1, X_4) + \Omega_4^2(X_2, X_4) + \Omega_4^3(X_3, X_4) + \Omega_4^4(X_4, X_4) \\ &= \frac{(rM'(t) - Q'(t))}{2r(r^2 - rM(t) + Q(t))} + \frac{Q(t)}{r^4},\end{aligned}$$

Since (1.1) has the following form

$$R = \sum_{i,j} g_{ij} \theta^i \otimes \theta^j,$$

thus, the Ricci scalar becomes

$$\begin{aligned} R &= \sum_{i,j} g_{ij} R_{ij} \\ &= \frac{(2Q(t) - rM(t))(rM'(t) - Q'(t))}{2r(r^2 - rM(t) + Q(t))^2} + \frac{10Q(t) - 4rM(t)}{r^4}. \end{aligned}$$

□

Corollary 3.4. *The component of the Einstein tensor $G = (G_{ij})$ of metric (1.1) is*

$$\begin{aligned} G_{11} &= R_{11} + \frac{1}{2}R = 0, \\ G_{22} &= R_{22} - \frac{1}{2}R = \frac{Q'(t) - rM'(t)}{r(r^2 - rM(t) + Q(t))} + \frac{2rM(t) - 4Q(t)}{r^4}, \\ G_{33} &= R_{33} - \frac{1}{2}R = \frac{(rM(t) - 2Q(t))(rM'(t) - Q'(t))}{4r(r^2 - rM(t) + Q(t))^2} \\ &\quad + \frac{rM'(t) - Q'(t)}{2r(r^2 - rM(t) + Q(t))} + \frac{-2Q(t)}{2r^4}, \\ G_{44} &= R_{44} - \frac{1}{2}rR = \frac{(rM(t) - 2Q(t))(rM'(t) - Q'(t))}{4r(r^2 - rM(t) + Q(t))^2} \\ &\quad + \frac{rM'(t) - Q'(t)}{2r(r^2 - rM(t) + Q(t))} + \frac{2rM(t) - 4Q(t)}{r^4}, \end{aligned}$$

and all other components of G vanish identically.

REFERENCES

1. R. Bakhshandeh-Chamazkoti, *Symmetry analysis of the charged squashed Kaluza-Klein black hole metric*, Math. Meth. Appl. Sci., 39 (2016), pp. 3163-3172.
2. R. Bakhshandeh-Chamazkoti, *Geometry of the curved traversable wormholes of (3 + 1)-dimensional spacetime metric*, Math. Meth. Appl. Sci., 39 (2016), pp. 3163-3172.
3. H. Bokhari, A.H. Kara, A.R. Kashif and F. Zaman, *Noether Symmetries Versus Killing Vectors and Isometries of Spacetimes*, Int. J. Theor. Phys., 45 (2006), pp. 1029-1039.
4. H. Bokhari and A.H. Kara, *Noether versus Killing symmetry of conformally flat Friedmann metric*, Gen. Relativ. Gravit., 39 (2007), pp. 2053-2059.

5. I.H. Dwivedit and P.S. Joshi, *On the Nature of Naked Singularities in Vaidya Spacetimes*, *Class. Quant. Grav.*, 6 (11) (1989), pp. 1599-1606.
6. D. Farrokhi, R. Bakhshandeh-Chamazkoti and M. Nadjafikhah, *On the invariance properties of Vaidya-Bonner geodesics via symmetry operators*, *Int. J. Nonlinear Anal. Appl.*, 13(1) (2022), pp. 563-571.
7. N.H. Ibragimov, *Elementary Lie group analysis and ordinary differential equations*, New York: John Wiley & Sons, 1999.
8. M. Jafari, A. Zaeim and A. Tanhaevash, *Symmetry Group Analysis and Conservation Laws of the Potential Modified KdV Equation Using the Scaling Method*, *Int. J. Geom. Methods Mod. Phys.*, 19(7) (2022), id. 2250098-40.
9. M. Jafari, A. Zaeim and S. Mahdion, *Scaling Symmetry and a New Conservation Law of the Harry Dym Equation*, *Mathematics Interdisciplinary Research*, 6 (2) (2021), pp. 151-158.
10. M. Jafari, Y.A. Fakhri and M. Khadivar, *Densities and fluxes of the conservation laws for the Kuramoto-Sivashinsky equation*, *J. Linear Topol. Algebra*, 11 (01) (2022), pp. 47-54.
11. D.N. Khan Marwat, A.H. Kara and F.M. Mahomed, *Symmetries, Conservation Laws and Multipliers via Partial Lagrangians and Noether's Theorem for Classically Non-Variational Problems*, *Int. J. Theor. Phys.*, 46 (2007), pp. 3022-3029.
12. R. Narain and A.H. Kara, *The Noether Conservation Laws of Some Vaidiya Metrics*, *Int. J. Theor. Phys.*, 49 (2010), pp. 260-269.
13. R. Narain and A.H. Kara, *Invariance analysis and conservation laws of the wave equation on Vaidya manifolds*, *Pramana – J. Phys.*, 77(3) (2011), pp. 555-570.
14. E. Noether, *Invariante variations probleme*, *Nachr. Akad. Wiss. Göttingen, math.-phys. Kl.*, 2 (1918), pp. 235-257.
15. Z.F. Niu and W. BiaoLiu, *Hawking radiation and thermodynamics of a Vaidya-Bonner black hole*, *Res. Astron. Astrophys.*, 10(1) (2010), pp. 33-38.
16. M. Tsamparlis and A. Paliathanasis, *Lie and Noether symmetries of geodesic equations and collineations*, *Gen. Relativ. Gravit.*, 42 (2010), pp. 2957-2980.
17. S. Hawking, *Black hole explosions?*, *Nature*, 248 (1974), pp. 30-31.
18. S. Yang and D. Chen, *Hawking Radiation as Tunneling from the Vaidya-Bonner Black Hole*, *Int. J. Theor. Phys.*, 46 (2007), pp. 2923-2927.

¹ DEPARTMENT OF MATHEMATICS, KARAJ BRANCH, ISLAMIC AZAD UNIVERSITY, KARAJ, IRAN.

Email address: davoodfarokhi61@gmail.com

² FACULTY OF BASIC SCIENCES, BABOL NOSHIRVANI UNIVERSITY OF TECHNOLOGY, BABOL, IRAN.

Email address: `r_bakhshandeh@nit.ac.ir`

³ SCHOOL OF MATHEMATICS, IRAN UNIVERSITY OF SCIENCE AND TECHNOLOGY, TEHRAN, IRAN.

Email address: `m_nadjafikhah@iust.ac.ir`